OfHDom—

OfIOmD~a-—

OfHDOw—-d1—

m@|ombd-=a-—

F16[E EEIAZTHYITNRT Y k7

—I)LKE

ICIHREECE D L9,

BAL AT BENLET,

E') -5 FU—%-HU)—-%
215 RS PFER =15 1 A HHRAEERFEA =15 ZHZ—J—rh BWERBEEB
8:00 B % I 7.0 8:30 EI5 2 ] T.0. 8:30 iR = XGU—ZIF1A6RICRAIEHY £ HA
| 1] 900 5wy | —| 2weE | meE %l 1] 930 R | — & 25 | 1] 930
% | 2| 10220 FE - b/ P % | 2| 10:50 ZF — | -/ % | 2| 1050
% 3| 11200 | B | -] g FE % | 3| 1210 = - = ZaE % | 3| 1210
| 4] 1300 + - = | E2weE % | 4| 1330 & %| 4| 1330
| 5| 1420 e | —-| A& 7t | 5| 14:50 %| 5| 14:50 22 |—| _rm o,
%| 6| 1610 %| 6| 1610 B | = & )
XABHF - HF - KPLFIRBEBOSFEVEBENLET,
XEH (7TH) 3H20T. SBIEIKTHRZOFEITBEVWLET,
AY—5-C)—9 DY—%
ES K :H:—Lrh BEHRBEA =15 bl HRAEEEEB 215 ESFFRK B R IGESS
8:30 Bfi&m # ) 8:30 BHi&E P -] T.0. 8:00 FBfi&m % DO B T.0. 8:00 FBHi&E % D@ B T.0.
21| o0 EEIIN - BEL 2| 1] 930 B -| Em AR g 1| 200 EE || &S S 2| 1] 900 #I | —| i Bl% XBU—ZI31B T RICHAIRS Y £HA
g 2] 1050 _H“ 2| 2] 1050 Tl — B = 2] 1020 Ag | -| xaEm | 189
=( 3| 12110 B zens s3] 12:10 R | - B - 2| 2| 11:20 s |-| &E ES
2)a] 133 | @A | —| xmB [FTLL 24| 1330 N ams m 23| 12:40 1w | —| oms | sz
5| 5| 1450 Kl = B KEHB 25| 14:50 = - PR 21| 3| 13:40 ER - S iE 21 4| 14:00 18 - 28\t 38l
g6 16110 =6 1610 T - =
EV—J IRGIREE; - 3T F)-9 GY—9(&F)-BV—-J(BF) HY—5
=15 FERER 215 1 BNREK 215 BEIRAREEA 215 BERAKEEB =1 KBEBER
8:00 B % P T.0. 8:00 FBi% #% = T.0. 8:00 B # P 7.0. 8:00 Fi5 % = TO. 8:00 B 5
%[ 1] 900 * || mwe | #e Z| 1] 900 | E# | —| #mw | & %] 1] 900 |miiEshs| — |=zeram| A& 1] 900 | mm |-| #m | #ma %] 1] 900
%| 2| 1020 V=72 - P =70 %| 2| 1020 2 — B =" 2| 2| 10:20 & HA — peEL g 21 2| 10:20 B = AHA mmﬂ% %| 2| 1020
| 3| 11:40 e | - # FH % | 3| 11:40 & - B B | 3| 1140 |mzmrm| — | x5 | wsmenw % | 3| 11:40 - | 3| 11:40
x| 4| 1300 | BeE |- AE 7 % | 4| 1300 FE || LB 2l s 4| 1300 7 - B = 2| 4] 1300 PETTTH — | %| 4| 1300
% | 5| 14:20 ws | —| e e | 5| 1420 | ey || = & %| 5| 14:20 =E | —| &2@A WE %| 5| 14:20 % | 5| 14:20
% | 6| 1540 b=/l ont = FERBLL B 6| 1540 WYl — B B HA 8| 6| 1540 KEHA MRNES % | 6| 1540
XE2H (14 Ei) LHHOT, 2HIIRTHZOEETHEVWLET,
17 :300CIHBETESESICLELES,
A= IRGLREE - 3T CU—J IRGLREBE - T GY—J(%ZF)-BV—J(BF) IRGIREBE ZHE DY—¥ IRGLREH - X
= . BhER =15 1 FWh K 215 BEIRAHREEA =% BEIRAEREEB =15 NERFERK = KBEBZER
8:00Rfi5% s b T.0. 8:00Fi% y 8:00 Bi% H 2 T.0. 8:00 BA& % -] T.0. 8:00 FBfi& % P T.0. 8:00 Bfi&E % -] T.0.
B 1] 900 & | — | AE®BA B E 1| 900 EhE - AR 2£HB %| 1| 900 GO | — | G@Ifz | GO3fiI %| 1| 900 G2t S 1] 900 B2 | —| NB BE | 2| 1| 900 s& | —| & )
s( 2| 1020 R |- & i3} s 2] 1020 = [ e i g2 1020 1z [N B B3 = 2] 1020 B2)3{l g] 2| 1050 EE | —| <+t 184
2| 3] 1140 B |—| #B R BEEEN === B z@ms &0 %| 3| 1140 | Go3mr | -| Geswr | cenfr %| 3] 1140 2] 2] 1120 B || == T
g4 1300 & woe| AEB 2| 4] 13:00 AiE =iE HEEB g 4| 1300 — B2)1 {3 =] 4] 1300 PEEAE B 1{i D24 s3] 1310 £ || RS NE
25| w20 | mwmA [~ B % 25| 1420 BTN BEB  AB x| 5| 1420 | Gty GO3fz | GO | 5] 1420 Fla] 1500 | Am [+ m@E | sawg [=][3] 140 [ mn [-| =m s
Bl 6| 15:40 ABHB | =} AREA B| 6| 1540 AEZB pilll AR B 6| 1540 B B : Bl 6| 15:40 B@3fi B®21i B@2fi1




